

05.09.2019

To, BSE Limited, PhirozeJeejeebhoy Towers, Dalal Street, Mumbai – 400001

Sub: Disclosure by member of promoter group for acquisition of shares under

SEBI (Prohibition of Insider Trading) Regulations, 2015.

Ref: Scrip ID/Code: OBCL/541206

Dear Sir,

This refers to the reporting requirements in terms of Regulation 7 (2) of SEBI (Prohibition of Insider Trading) Regulations, 2015 by the Promoters of the Company.

Please find the enclosed herewith disclosure, received from RSR Infrastructure Private Limited forming part of the Promoter group of the Company, under Regulation 7 (2) of SEBI (Prohibition of Insider Trading) Regulations, 2015 on purchase of Shares in the company in form C.

Kindly take the said report on record and oblige.

Thanking you,

Yours faithfully,

For, Orissa Bengal Carrier Ltd.

Aakash Kumar Sahu (Company Secretary

(Company Secretary & Compliance Officer)

CIN No.: L63090CT1994PLC008732

Corp. Office: A-1, 3rd Floor, C.G. Elite Complex, Opp Mandi Gate

Pandri Main Road, Raipur 492001 (C.G.)

© 0771-2281310- (9 Lines)

Regd. Office: Jeevan Bima Marg, Pandri, Raipur 492001 (C.G.)

Ph.: 0771-4054518

×

admin@obclimited.com

RSR INFRASTRUCTURE PRIVATE LIMITED

Reg. Office: - C-9, Shyam Market Pandri, Raipur (C.G.)492001
Corp. Office: - A-2, 3rd Floor, C.G. Elite Complex, Mandi Gate, Raipur (C.G.)492001
Contact No. 0771-2281318 Email: rsr@obclimited.com
CIN:U45201CT2007PTC020300

CIN:U45201CT2007PTC020300 GST No. 22AADCR9180L1Z2

Date: 05.09.2019

To,
The Secretary
BSE Limited,
PhirozeJeejeebhoy Towers,
Dalal Street, Mumbai – 400001

SUB: Reporting requirements in terms of Regulation 7 (2) of SEBI (Prohibition of Insider Trading) Regulations, 2015 by the Promoters of the Company.

Dear Sir,

Please find enclosed herewith 'Form C' disclosure under Regulation 7 (2) of SEBI (Prohibition of Insider Trading) Regulations, 2015.

As per the Regulation 7 (2) of SEBI (Prohibition of Insider Trading) Regulations, 2015 acquirer needs to give intimation to the exchange and company within two working days of the transaction but due to overlookhappened on our part of the Company in regard to the SEBI (Prohibition of Insider Trading) Regulations, 2015 which was amended recently this year dated 21st January, 2019 which inserted "Member of Promoter Group" in the definition for the purpose of disclosure under Regulation 7 (2)with the earlier Regulation and also some error on the part of our stock broker RBG Financial Services Private Limited where the shares were purchased in the joint names of the Directors of RSR Infrastructure Private Limited instead on the name of the Company.

As soon as such errors came to the knowledge the same has been rectified forthwith with our stock broker. Further we wish to clarify that the Company did not had any malafide intention in regard to such purchase in the Target Company and regret the delayed disclosure by the Company. The Company has also received a detailed explanation on the error on the part of RBG Financial Services Private Limited along with the client masters and the holding statements, the same is attached for your reference.

The details of the shares purchased:

Transaction Date	Quantity (Shares)	Market Value (in Rs.)	Total Value (in Rs.)		
03.07.2019	34000	48.5	1649000		
03.07.2019	2000	48.5	97000		
08.07.2019	50000	50	2500000		
08.07.2019	12000	50	600000		
30.07.2019	60000	46.75	2805000		
02.08.2019	40000	48	1920000		
02.08.2019	12000	51	612000		

We hereby request to your good self to take this compliance as on record and oblige us.

Thanking you,

For, RSR Infrastructure Private Limited

For, RSR Infrastructure(P) Ltd.

(Director) Director

Name: Subhash Chand Mittal

DIN: 02184464

Add.:B-04, Shiv Complex, Ward No. 27

Raipur (CG) 492001

For, RSR laterastructure(P) Ltd.

Director

(Director)

Name: Priti Agrawal DIN: 06726530

Add: A-8, Rajiv Nagar, Raipur (CG) 492001

FORM C

SEBI (Prohibition of Insider Trading) Regulations, 2015 [Regulation 7 (2) read with Regulation 6(2) – Continual disclosure]

Name of the company: Orissa Bengal carrier Ltd.

ISIN of the company: INE426Z01016

Details of change in holding of Securities of Promoter, Employee or Director of a listed company and other such persons as mentioned in Regulation 6(2).

Name, PAN, CIN/DIN, & address with contact nos	Categor y of Person (Promot ers/ KMP / Directors / Immediate relative to / others etc)	of Person prior to acquisition / disposal Directors / Immediate relative to /		Securit	Securities acquired/Disposed				Securities held post acquisition/d isposal		Date of allotment advice/ acquisition of shares/ sale of shares specify		Mode of acquisiti on / disposal (on market/ public/ rights/ preferen tial offer / off market/ Inter-se transfer, ESOPs
		Type of securit y (For eg. – Shares , Warra nts , Conve rti ble Deben tur es etc.)	No. and % of shareh olding	Type of secur ity (For eg. – Shar es, Warr an ts, Con vert ible Debe nt ures etc.)	No	Value	Tran sact ion Type (Buy / Sale/ Pled ge / Revo ke/ Invo ke)	Typ e of secu rity (For eg. - Shar es, War rant s, Con verti ble Deb entu r es	No. and % of share holding	From	То		etc.)
1	2	3	4	5	6	7	8	etc.)	10	11	12	13	14
RSR Infrastructu re Pvt. Ltd. PAN: AADCR91 80L	Member of Promoter Grorup	Equity Shares	18000 00 (8.54 % approx	Equi ty Shar es	21000	10183	Buy	Equ ity Shar es	2010 000 (9.54 % appro x)	Table attach ed**	Table attach ed**	04.09.	On market

			and the second second second	The second second second	AND ADDRESS OF THE PARTY OF THE			 and the same of th	Commence of the party of the pa	
CIN:		3 4.45								
Û45201CT										
2007PTC02										
0300										
Add: C-9,										
Shyam										
Market,										
Jivan Bima										
Marg,										
Raipur										
(CG)										
492004						-				
Contact:										
0771-										
2281318										

Note: "Securities" shall have the meaning as defined under regulation 2(1)(i) of SEBI (Prohibition of Insider Trading) Regulations, 2015.

×	1.	4	L
•	•	•	۰

Transaction Date	Quantity (Shares)	Market Value (in Rs.)	Total Value (in Rs.)		
03.07.2019	34000	48.5	1649000		
03.07.2019	2000	48.5	97000		
08.07.2019	50000	50	2500000		
08.07.2019	12000	50	600000		
30.07.2019	60000	46.75	2805000		
02.08.2019	40000	48	1920000		
02.08.2019	12000	51	612000		

Details of trading in derivatives of the company by Promoter, Employee or Director of a listed company and other such persons as mentioned in Regulation 6(2).

Trading in de	Exchange on which the trade was executed					
Type of contract	Contract specifications	Buy		Sell		
		Notional Value	Number of units (contracts * lot size)	Notional Value	Number of units (contracts * lot size)	
15	16	17	18	19	20	21

Note: In case of Options, notional value shall be calculated based on Premium plus strike price of options.

Name & Signature: Subhash chand Mittal

Designation: Director

Date: 05.09.2019

Place: Raipur

For, RSR intrestructure(P) Ltd.

Director

18 L

For, RSR Infrastructure(P) Ltd.

Director

CIN: U67120KL2008PTC023114



RBG FINANCIAL SERVICES PRIVATE LIMITED

MEMBER - NSE, BSE

Corporate Office: VI/93, Jew Town, Kochi - 682 002. Tel (+91 - 484) 2588881, 2588882 Fax: (+91 - 484) 2220222 Email: eqthackoffice@rhgcommodities.com URL: www.rhgfinancials.com

The Director
RSR Infrastructure Private Limited
3rd Floor, A2, CG Elite
Opp: Mandi Gate, Pandri
Raipur 492 001
Chhattisgarh

04th September 2019

Dear Sir,

Sub: Clarification on the Error occurred on our part

We had received the Account opening form/book at our head office on 14/05/2019. The account was opened on 17/05/2019. However at the time of opening the account, our DP Team member erroneously opened the account in the "joint name of the Directors / Authorized signatories" under individual status.

The account was erroneously opened in the joint names of "Mr.Subhash Chand Mittal, Ms.Priti Agrawal" who are the directors and the authorized signatory of the company instead of opening it in the name of the company "RSR Infrastructure Private Limited".

The same was realized during our routine internal checks. We wish to inform you that we have closed the Demat account number 1206660000019330 under individual status on 03/09/2019. We have also opened another Demat Account number 1206660000019398 under Non individual status in the name of "RSR Infrastructure Private Limited" on 30/08/2019. The stocks that were held by you the old account transferred from (Account (Account Number: 1206660000019330) the new account 1206660000019398) on 03/09/2019. We regret the inconvenience caused.

We are enclosing a copy of both the Client Masters and Holding statements for your reference and records.

Thanking you,

Yours faithfully,

For RBG Financial Services Private limited

Deepakuriar N Compliance Officer.



RBG FINANCIAL SERVICES PRIVATE LIMITED

DP Of Central Depository Services (I) Ltd.

VL/93,JEW TOWN.

KOCHI,KERALA-682002

Phone -0484-2588813, Fax -0484-2220222,

Email -deepakumar@rbgcommodities.com,eqtdp@rbgcommodities.com,

General Service						
Nominee Nan	ne		%.	Residual Sec Flag	Nominee's Guardian Details	
				IFSC Code	HDFC00000152	
				MICR Code	492240002	
		RAIPUR, 492001, CHHATISGAI	RH, INDIA	Bank A/c No	01522560010680	
Bank Details		HDFC BANK LTB		- construction of the con-		19 19
				Bank A/c Type	Cash Credit	
Email	18	rs:@obclimited.com			1000	
Phone/Fax		7024218013 / 22813167		LV.		
		RAIPUR, 492001, CHHATTISGA	Section (1901)		AREA STATEMENT CONTRACTOR CO.	Production in the second secon
			Learner California C		RAIPUR, 492001, CHHATTISS	SAPH INDIA
		PANDRI			PANDRI	
		CG ELITE OPP MANOI GATE			CG ELITE OPP MANDI GATE	
Correspondence Address 3RD FLOOR A 2			Permanent Address	3RD FLOOR A 2	85	
Third Holder	Varne -	RAVI RATANKUMAR AGRAWA	L AGRAWAL	Third Holder PAN	AHQPA8747F	
Second Holde	r Name	PRITE AGRAWAL		Second Holder PAN	- AND DESCRIPTION OF THE PROPERTY OF THE PROPE	
First Holder N	ame	SUBHASH CHAND MITTAL		March State (1905)	AHDPAC412F	
2000 C 10 61	2,000	200000000000000000000000000000000000000	Monthson Recordson	First Holder PAN	AADCR9180L	Date of Birth 05-May-1966
Registered BSDA Flag	No	No RGESS Flag No	Pledge Si Flag No	Email D/L Flag Yes	Annual Report Flag	Physical
SMS	YES	SMS Mabile ######8013	UID #######7347	RBI Ref No	RBI Approval Ot	
Nationality	INDIA	Start Cycle End of Month	Occupation BUSINESS	Closure Init Initiated by DP By	Account 03-Sep-2019 Closure Dt	Registered For Easlest
BO Status	Individual	80 Sub Status	Individual- Resident Negative Nomination	A/c Category Regular BO	Freeze Status Not Frezen	Registered For Easi N
					The state of the s	Walver



RBG FINANCIAL SERVICES PRIVATE LIMITED

DP Of Central Depository Services (I) Ltd.

VI / 93, JEW TOWN, KOCHI, KERALA-682002

Phone -0484-2588813, Fax -0484-2220222,

Email -deepakumar@rbgcommodities.com,eqtdp@rbgcommodities.com,

			1.7	A LONG LAND ROOM TO A CONTRACT OF THE PARTY							
DP ld	12066600	Client 00019398 Id	Sex	DP Int Ref No 4678	B-A	A/c Status	Active	A/c Opening Ot	30-Aug-2019	Purchase Y Walver	
BO Status	Corporate	BO Sub Status		Corporate Body-Domi	estic	Alc Category	Regular BO	Freeze Statu:	Not Frazen	Registered For East N	
Nationality	IND(A	Strift Cycle End of	Month	SEBI Reg. No.		Closure Init By		Account Closure Dt		Registered For Easiest	
SMS Registered	YES	SMS Mobile ###### No	8013	UID		RBI Ref No		RBI Approva			
Pledge SI Flag	Na	Email D/L Flag No						Annual Repo	rt Flag	Physical	
First Holder Na						Date of 22-Jun-200 Incorporation					
Second Holder	Name				i i	Second Hold	er PAN				
Third Holder N	ате					Third Holder	PAN				
Corresponden	ce Address	3RD FLOOR				Permanent A	ddress	3RD FLOOR			
	A-2, C.G. ELITE, OPP MANDI GATE PANDRI.			ATE PANDRI.				A-2, C.G. ELITE, OPP MANDI GATE PANDRI.			
		RAIPUR						RAIPUR			
55		RAIPUR, 492001, CHHA	ATTISG/	ARH, INDIA:				RAIPUR, 4920	001, CHHATTISG	ARH INDIA	
Phone:Fax		7024216013 / /					19				
Email		rsr@obclimited.com			Ti.				100		
Bank Details		HOFC BANK LTD			1	Bank A/c Typ	0	Current Accou	nt:	(8)	
		RAIPUR, 492001, CHHA	ATISOA	RH, INDIA		Bank A/c No		01522560010	580		
						MICR Code		492240002		325	
					9	FSC Code		HDFC000015	2		
Authorized Signatory Details PO					DA Details						
Name				PC	OA Master Id	0	POA Name	POA	Reference	Holders (1sti2ndi3rd)	
1 RAVI AGRAWAL				22	20686000000	0015	M/S RBG FINAN SERVICES PVT	CIAL POA	4576	First Holder	

STATEMENT OF HOLDINGS Central Depository Services (India) Limited

RBG FINANCIAL SERVICES PRIVATE LIMITED (DPID:12066600)
RBG FINANCIAL SERVICES PRIVATE LIMITED VI/93, JEW TOWN, KOCHI - 682002



Statement of Holdings as on: Thursday, September 5 2019 Report Date 05/09/2019

As per closing price of : Tuesday, September 3 2019 Page No.

Client Id. 1206660000019398 Trading Code: B00R092 POA Id.: POA 4678

Name(s) RSR INFRASTRUCTURE PRIVATE LIMITED .

Address 3RD FLOOR A-2, C G ELITE, OPP.MANDI GATE

RAIPUR RAIPUR 492001

Account Status : Active BO Status : Corporate

Forzen: NOT FROZEN BO sub Status: Corporate Body - Domestic

ISIN	Company	Curr Bal	Free Bal	Pledge	Closing Rate	Total
INE426Z01016	ORISSA BENGAL-EQ	210000	210000	0	47.50	9975000.00
				Total		9975000.00